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1-5: BDBAD 6-10:CDABC 11-15:DBBAC
16-20:BADAB  21-25:ACAAB 26-30:ADAAB
31-35:ACDBA  36-40:BABBC 41-45:ADBAA
46-50:BACDC  51-55:DADBD 56-60:DABAD
61-65:AACDA  66-70:BABAA 71-75:BCAAB
76-80: BBDDA
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1.AC 2.BC 3.BC 4.ADE 5.CD
6.ABCDE 7.ABCD 8BCDE 9.BCDE  10.ABC
11.ABCE  12.ADE 13.ACDE  14.AD 15.ACD
16, ABDE 17.BCD 18.ACD  19.ABCDE 20.ABCDE
21.ABDE  22.ABCD 23.ABCD  24.ABE  25.ACDE
26.AB 27.ABE  28.CDE 29.ABC  30.DE
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1-5:AAABB 6-10:BABBA 11-15:AABAA
16-20:AABAB  21-25:AAABA  26-30:ABAAB
31-35:BAABA  36-40:BABBB  41-45:BAAAB
46-50:AAABB  51-55:AABAA  56-60:AABBA



